
l.2 Vypočtěte:
- a i

a )  l i m  -  -  v b o d e c h  x o : - 2 , 0 , 2
o--+to X - 2

b) 6 ť:J v bodech fio : -1, 0, 1'  a - + r o  n - I

c) ri* "l + 
!t 

+ 
! v bodech no : -3, o, 3' t - + a o x 2 + 4 r * 3

Vvpočtěte ',* /(r) - /(1)
a J 1  r _ I

a )  f  :  y : 7 , 2  b )  / ,

1.5

1.6

pro:

U :  x 3

Vypočtěte lim
t - -ža

1
a )  J :  a -  -

Í(")  _ Í(a) pro:
r - a

b )  Í '  a : 2 r * 3

c )  Í .  y :  x 2  + r+7

c )  Í . a : t 2 - 3

(obr. 23.1) odhadněte

1.3 Vypočtěte:

a) lim
1 3  + t : 2  - l x * 7 , .  Í 3 _ 2 x _ 7

a-+-t g5 _ 2x _ I

, .  1 -  r / T - ,
Itm -
o-+0 f

lim (r _ J;Ť=\
c-++@

' r - + - I  
1 2 - 2 f  - 3

n 2 - n

c) lim. r _ + t , E _ l

Q - 1 2

e )  I im+' b+B \/3r _ 3

1.4 Vypočtěte:

a) lim sin r v bodech
I -+aO

l'Í Ť
b) lim 

-o * 
v bodech

,+,o sín2r

cose -  I
C )  l r m -' 

r-+O S\n2 r.

f . s  5 r
e) I im "o "*

' a-+0 3r

b)

d)

2.1 Na základě daného grafu funkce
limity:

a) l im f(z)
Í t U

b) Ii+ Í(")
Í + + @

t) 
"Ir- 

/(")

Na základě daného grafu funkce
limity:

a) li+ Í(r)
Í J - | @

I
Í. a: r-:-; (obr '  23.2) odhadněte

L+x '

b) ,IL /(')

f)

r g : 0 ,  | Ť ,  n

Í o = 0 , Ť 2.2

s) l im
c - u

1 - c o s 2 r l t g 2 x

r s t n u

,. sin 3r
o--+0 5r

, .  1  -  cos2z
l lm -
o-+0 x sínr

. .  t s r  -  s i n r
lrm -
o-+0 t3

d)

h)
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